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40%

50m3/min

40%

 

 

[m3/min] 100% 80% 60% 40%

y = 0.6541x + 135.43 0.93 300 1.19 1.31 1.51 1.92

y = 0.754x + 139.72 0.93 300 1.31 1.44 1.65 2.06

y = 0.6632x + 158.27 0.93 300 1.28 1.42 1.66 2.13

y = 0.914x + 34.448 0.93 107 1.32 1.40 1.54 1.82

y = 0.9078x + 43.376 0.93 107 1.41 1.52 1.70 2.07

y = 1.1906x + 10.647 0.95 50 1.48 1.53 1.63 1.81

y = 1.0665x + 9.4649 0.95 50 1.32 1.37 1.45 1.62

y = 1.2257x + 10.779 0.95 20 1.86 2.00 2.24 2.71

y = 0.9244x + 23.299 - 92 1.18 1.24 1.35 1.56

y = 1.0032x + 27.123 - 92 1.30 1.37 1.49 1.74

y = 0.8834x + 36.505 - 138 1.15 1.21 1.32 1.54

y = 0.9648x + 40.798 138 1.26 1.33 1.46 1.70

3
)

No.
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0.0 0.5 1.5
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